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Semester 1 Test Review

Write the letter for the correct answer in the blank at the right of each question.
1. Which relation is a function?
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2. Find the zero of f1x) = 3 x-12,

D= ’%\(42—
L Hie
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-~ ={-T -
b.-12 %(\’L) (zy) 2
c. 12 _
d.18 =13 = X
[4x] if x < -2
3. What is (-2) for ) = ¢ .~ ?
x=1ifx=-2
a. 8

b. -7 _t(..1.3 = (\7:]% -—‘

= -9
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4. Which function is an odd function?
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¢ fl)=x*~9 L= 19 = 1= X et 6”05&1 of €ury

d fx) = x* +4x Co-m = (;{)'-l y AR = ’(q*"lﬁ Z ek cYPm;R o(: C(’x‘)
5. Which function has a hole?

a1 3_11_3
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c. AR = L

xX+3
d fx) =z’ -3

f 3 N
6. For f{x) = x4 what expression for a makes Sin ”ﬂX) =
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7. TEAMS The function p(x) = ~5x% 4 4% = 109x+ SBapproximates the number of students on the debate team from
2004 to 2010 where x is the number of years since 2000. Which of the following best approximates the relative maximum
of the function?

a.5 L\o\\\u Wy Vs le 1T 1€\ alio
b.15 3\ 22 ¥ |~%5 3 |-709] 1300
‘;u\\qo\u Vst e \as |1 \ \”\ I

d. 10,880 ’(

2 reldhe mox

8. ROCKETS The height in feet of a rocket ¢ seconds after launch is modeled by &(t) = —16¢* + 72¢. Find its average
speed from 3 to 4 seconds.

e WD) = et D= 12
c. 40 ft/sec h("‘\ - ""g (‘Dl f7l("0 - 32
d. 56 fi/sec

m= 7J2-37%
34



9. Which of the following represents the graph of /%) = |?~'3 |?
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10. If J1x) = x = 3and g(x) = 2x -4 _find '+ g)(x). (:(ﬂ 1_ ?L’zq)
@tf+g>(x>= 3%~ (g (2
(X)) = —x=T
o e 3% -7
d. (f+ g)(x) = 3x + |

11.1f fix) = x° + land &) = 2% find [/° & (),

a [fog]x)=2x*+2 {‘(a(m—. (Zx)l +H
b-[fog]@x)=25"+1 = Yyt
S, [f"g](x)=x2+4x+4

foglx)=4x"+1



12. Find the inverse of Jx) = 2x+9.

a. f(x)=-2x-9 1“: 'Z,anﬁ

b fl(x) = —9-2x
- X=2 9 X-~9
=222 o 1 -4 L0
Y- X3 2y
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13. Which function has an inverse that is also a function?
a f= "N x

b’j(X)=?f= . -0 X

C oy x4+l g v
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@ﬂx}=x3 \msSLS ovi 2o a‘ e Yty (wlore Yo»m\ nehvn ﬁﬁ
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14. The graph of Ax) = T x%is shown at the right. What is the domain of the function?
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b. (0,c0)
c. (~eo,0) or (0, co)
d. (~e,0)

15. Which describes the end behavior of the graph of f{x) = 2% - 5x+ 19

a. lim flx)=co, im flx)=co ) N %5
e’ *"""ﬁ) S e lfuclu\n) (atuﬁ_cﬂ/ﬁ' (s P";:::L

b. lim f{x) = ~eo, lim flz) = -0 ol A s w0, St
iy o vigat s cor LI\ b T
@x]_i’m ]’(X)=—m,£nf(x)=m 3 oolv[: \"H- vl lpchatvr
d. tm fx) = co, lim flx) = ~co onos“.k , "

16. What is the greatest possible number of real zeros of f{x) = X -2x - x+19

2 n=3 (dyed
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17. What is the greatest possible number of turning points of fx) = 6xt + 11x° - 2% + x7

(2)3 |
!4 # ot ‘hwn“\; faw\\'i = -

c.5 =4-~1
d. 6 = 3
18. Divide (x* + 5x* + 5x = 2)by (x+ Z)using synthetic division.
& 3w qa . 36
X 4~'?x+19+——x+2 -2 ' | S T -2
b.x? .4 L -2 ~ 2L
®x1+3x—1 I 3 =1 (@)
d 16 2 34—
2+ Tx=9+ = X t3ix

19. PHYSICS The height # in feet of a ball thrown into the air after ¢ seconds is given by A(#) = ~168% + 35t + 6. Use
syt%lic substitution to find the height of the ball after 0.5 second.

19.5 fi -
b. 21 ft _EJ ~lb 35 G

c. 25 ft \L —< 15
d.26.5 fi oo 21 LAas rewmaindty = t\('ﬂ

,20. Find the remainder when 2x° + 6x° + 3x - lis divided by x= 1. Is the binomial a factor of the polynomial?

a. 0; yes i - N

b.-2; no _\_J pA b _S l
@10; no \L L “ \\

d.-1; yes P 'S W e

Siwe fle vemaimdes £0, X-1 s net a
P‘c*‘/ acwnlmjh Hu .(.“(-.v Hrovtw .

21. FINANCE For a period of x days, an account balance can be modeled by f{x) = x° — x* - 8x. When was the balance

(Dpay s 0 = x~-x - % . (-0 -509)
Y eV ey Y _(a) - F(4 {oY ~{10) ~%Clo
I e e e
dDaylo iy -1¥ -4o0 sh-et ey T
g 360 v = 3 X = §76x = §LOX
. . £ -4
22. What are the vertical asymptotes of fix) = 7 _g ?
a. x=0 2 -
b.x=1 X ‘;ﬁi‘ g
c. x=1%2 x =09

@x=i3
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23. MEDICINE The concentration of a medicine is modeled by SAx) = 3xi4 1 What is the horizontal asymptote of the
function?
a. 1
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24. Which of the following could be the function represented by the graph?
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*] Vewhee olS\,wr}vh at ¥=Y4
a.ﬁx)=ﬁ
> A= 222
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25.Solve 544 = Frarca P AT (_Lh > (S + - LED " Arrd) »-1)
a.—6
Cr S BT A) .
¢ -\ = Y4yx+ 1 ‘ A
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I et 43

l%- 1)31 x':-;(o “";:-:“’2\./
26. Which of the following is the solution to (X + 3){x— 2} £ 09
a. (~eo,e0) Kt320 yx-1=0 =4 x:0 x=3
b. (—e0,3) or (2,e0) ~-3 -3 LT A L \ \ 3
c. (-2, 3) X=-3 y:z + - - ,

(Dr3.2



27. Choose the graph of flx) =27,
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28. Choose the graph of fx) = 472
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29. Evaluate 1089 77
a. g

3 q X =
b. 3
- Lx
C. E S =
3
~ = |
xX=
30. Solve 108X + log, (x~ 2) = log, 15
a. =3 only
5 only
c.—3or5
d.—5o0r3

31. Choose the graph of fx) = logg(x+2).
a. ¥
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32. Solve 5% = 37+, \Y\Lg )9_‘1(3 XH-3

a. 2.732

b. 3.109 X lns = (¢2)W3

c. 4.117 ¢ WS = xnd r2\n>

@‘301 k'3 X Ind

b S-xny= 21n3 - J,
?(ﬂlnﬁ—\n33=11ﬂ3 ShEe
33. Convert 108547t0 a natural logarithm and evaluate. \n -1 ns-lnd

a. 0.770 X

b.2.241 §" = 47
@r.392 A S™ = ndT

d.2.516 sz (nd? = 7391

iws Ins

34. Solve ¥ = 21,2.

a. —1.898 \“(Q . zx)-_l'é_\.z)

b. 4.663
c. 8.234 25 w212
(@15.270 e 7
Xx=15.2776
35. BANKING Find the amount of time required for an investment to double at a rate of 12.3% if the interest is
compounded continuously. B ct -
@5.635years A~ Pe — AL3E" L‘n__l
b. 6.241 years 2P~ Pe 1S A3

c. 7.770 years p ?

d. 8.325 years laf }13'(?)
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